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1 warm-Up (Test-
Taking discussion)

Hw check
Calenlator Tips (7)
Showdown

Hw: # 17

| REMINDERS

1Algebra 1STAAR

Wwednesday!
Signed PR due tmr!
Defeat EOC book

_ g‘ due Friday S/8

April 30, 2015

Tarn in your Warm-Ups if you havent already!

Read the article on the pink paper. Write
down any notes or tips you want to try
at the top of your "' tab.

Please do not write on the pink paper

When you are done, write down any
procedures or ideas that have helped
you Overcome test anxiety and be

suceessful on a test.
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The table below shows the average wition per
semester ata community college over a 20-year
period.

Y% Averag
Tuition
1950 355 ¥\

Py 1985 $310
1950 $605

1995 $730

\' [ 2%pe] 825 25
Ifth d i , what s th fth
6 tuid:nua?dlizoc?;‘::miry ctollfcg: h@ &E \
g R
' . 39_(—) Hf%é-ﬂj
2l L\'\?\L% .E; “a3169
\\‘:—’Z.‘L)( -3\ e9

D. $930

i3 test \oder,
VQ A CQ- m 11 The graph of a quadratic function is sh
d qv\a VSl ol

010038
P H&:\D

i
ich statement about this graph is not true?

K‘he graph has a y-intercept at (0, 8).
The graph has a maximum point at (-1, 9).
‘e graph has an x-intercept at (2, 0).

D The graph has the y-axis as a line of symmetry.

A \ mict 10
1. Factor x’ —x—6 % %W CV\D\C \ﬂ’!’

(-2 Krer)  TABUE =ri< oisith
C. (x=3)(x+2)  D. (x+1)(x-6) 5@*?*‘"’5 S2IWNA

Z.tor 2x% —5x— 12)(

~ WA 3
(2x—3)(x+4)>ﬁ§(2x+4)(x—3) N V\t\f\ onR P 8 .
C. (2x+3)(xg4) D. O NVaxch Q\O\QS

CB T 3(x+d)- S S\ © X
\Kﬁ PRI B —Tx+14 . ottt O bv \w

C. 13x+14 D. gé\vla_br“\‘
Straight-Up Calculator @ - Srondaiad
1. Given 2x+3y:12,whatiﬁ';‘mﬁ afﬂf? aOﬁ.-

S |
.1
.6

—
Z.ﬁv can the graph of v = x* + 6 be obtain
frxthe graphof y=x"-8? %ua a\\ w;ﬂ
@l:f[ovethe graphof y=x’ —8up 6. h \Cﬁ\ bw

ove the graph of v=x* —~8 down 8
C. Move the graph of y = x* —8 down 14.
D. Move the graph of v =x" —8 up 14.

April 30, 2015
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practice

4_Which inequality best describes the graph below?

|
1. The graph of the function y = ;.\‘ —3 is shown below. If y

he line is translated 2 units down, which equation will best

jescribe th line? A x-ys-S o
escribe Ienew ine? . B x+y>5
y=;x—l ! C x+y<5 b
A D x-y<5 ‘ ]
y=tatl EEUSUNUNL SIENIES Zad E x+yz2-5
B. 2 ._3/ =
C V=X —5 /
1 :
y==—x=35 ]
D. 2 *
2x—y=2
5. The equations of 2 lines are given as .
2. The table shows a set of values for x and y. x+4y=25
What are the coordinates of the point of intersection?
x |3 |1 ] 2] 3] -7 . P
y |-a[-6]-9[-10][-14 AGZ.9)
Which equation best represents this set of data? B 4,3)
C@3. 4
A y=x-I D (3, -4)
B y=x-7 E (-1.-4)
C y=2x
D y=-x-I 6. What is the value of x in the following equation?
E y=x-2 2x—(4x—-6)=0
3. Martin arranged some cans of soup in a triangular pattern A -8
on a table. The top row had 1 can, the second row had 2 cans, B 4
and the third row 3 can, and so on. The arrangement is shown
Jelow. C 3
D 3
E 4

7. The chart shows the prices of a medium pizza with different
number of toppings Medium Pizza

Number of Total
st borad ot fora o Toppings Price
1 $5.50
[ L]
2 $7.00
Which equation gives the total number of cans in the 3 29.50
arrangement, T, when the cans are stacked n rows high? ‘
4 $10.00
. n(n=1)
A T= T Which equation shows the relationship between the total
rice, P, and the number of toppings, { ?
B T=3n p pping
c 7o2n+D A P=41+1.50
n B P=150r+4
D T=”{”2+1) c ’=r(4+l‘50)
D P=150(4+¢
E T=2nn-1) { )
F pP=alra1 50\
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wé _Instructions-—
At your table: Number yjourselves off 1, 2, 5, and 4. ‘

'f“ All number 2's - come get whiteboard markers to

] )
‘| show work on your table. =
"1; You need at least one device with the capability to -
= |
scan QR codes. -
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|
e
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The average annual rainfall for a particular city is 33,2 inches, In the first 30 weeks of this

vear, the city received a total of 9.7 inches of rain. If it is expected to rain between 1.5 and
2.1 inches per week through the end of the vear, what is 3 reasonable number of additional
weeks needed for this city to reach its average annual rainfall?

A 23 weeks
13 weeks

B
C 9 weeks
D

16 weeks
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What is the vertex of the graph of the quadratic function f{x} = x* + 6x + 107?

F (3, -1}
G (-3, 1)
H (=31}

1 31
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The function y = x* + x — & ig graphed below.

What
F x
G
H =

-

L e )

5 7 & B4

F3

IR

~l

Zd4 E & T F D

are the values of x when =% + x — 6 = —a4?

= —4 and x

= —2and x

= -3 and x

= —5and x

—

April 30, 2015
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Which expression is equivalent to —6x? —11x — 47

A (3x +N{3x — 3
B (—3x 4+ 432y —1)
C {(B3x — 3% +3)

D (=3 — 4{2x +1)
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If the graph of ¥ = 9x 4+ 4 is translated 4 units up, which equation describes the new graph?

Ux + 8

T
-
I

G v =13x4+4

13x+ 8

I
e
I

J yv=4ar44
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The population of a town is currently 9,000, The function p = 9,000 + 8% can be used
to estimate p, the population of the town € vears from now. Based on this function, which
statement is true?

F The population of the town is increasing at a constant rate,

G The population of the town will reach 10,000 between 11 and 12 vears from now,
H The population of the town will increase by 256 people two vears from now,

J The population of the town will increase and then decrease,
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The value of v varies directhy with X, Which function represents the relationship between

xandyify:é—owhen x = 307

F v =200x
2
G = =X
4 9
110
H = —x
¥ 3
9
J =_x
4 2
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Which set of ordered pairs contains onby points that are on the graph of the function
y =12 — 3x?

A {(=3,-27},(0, 0}, (6, 54)}

D {(=7,-9},(—4,0) (2 18);



7 Calculator.notebook April 30, 2015

The first six numbers in a pattern are shown below,

11’ ir 3_r__; — 12,...
3 3

AZn
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Which inequality can be represented by the graph below?

(0, b)
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Two points on the graph of & quadratic function are shown on the grid below,

-

>

| S T I ¥ W = Y N =]

T8 7 65 4 3 2 i i2 3 4 5 6 7 &

L
mumi-h-mrul-u

il
-

What is the equation for the axis of symmetry of the graph of this function?
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2 Cor'7|9 etecl Defeat the EOC book cb\e
““r Fridey (QUIZ grade) s
W YOU MUST TAKE YOUR NOTEBOOK %
=1 HOME TOVIGHT TO STWPY WITH! (
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